REBSEHN (FR2FE)

HERILEN B B & (Bf:[/)
Y TR 22 & TR 21 5 3
18R (234 3A31 BHE) (224 3A31AB%) # B
<EEDH>
B K E 711,291,618 350,520,073 360,771,545
T 151,856,668 80,275,070 71,581,598
x N £ 544,723,821 268,123,690 276,600,131
Ak ES 4,829,598 6,308 4,823,290
Al £ 8,478,471 2,039,105 6,439,366
EHENE 0 23,600 A 23,600
" #h £ 1,403,060 52,300 1,350,760
E & E 1,079,405,220 579,891,613 499,513,607
HABME 623,383,204 321,237,136 302,146,068
ZRMDEESE E 456,022,016 258,654,477 197,367,539
EEDRHEF 1,790,696,838 930,411,686 860,285,152
<BEBEOH>
A E 576,438,735 288,082,220 288,356,515
HHEAE 197,194,077 69,171,425 128,022,652
x i £ 371,517,842 219,040,647 152,477,195
mY £ 2,680,369 A 134,452 2,814,821
" 2 £ 5,046,447 4,600 5,041,847
E & F 440,320,923 182,707,795 257,613,128
RiEEEEAL 433,199,575 169,219,795 263,979,780
RYEEEEEAS 7,121,348 13,488,000 A 6,366,652
EEDOEER 1,016,759,658 470,790,015 545,969,643
<fiEEDOH>
xz KX £ 197,229,777 197,229,777 0
EE#HBESEENELE 532,405,010 243,044,608 289,360,402
FDHMDIEILE 11,000,000 11,000,000 0
REEEEIRT =48 33,302,393 8,347,286 24,955,107
MmEEDHSE 773,937,180 459,621,671 314,315,509
BERUSIEEDESE 1,790,696,838 930,411,686 860,285,152
2. EENFTEHEE (Frr22% 48 1B~FR234% 3A31H) & B
BEILA (1) 809,051,807
BEXH (2) 777,762,844
RETHESINEZESR (3)=(1) - (2) 31,288,963
MeER B IRA (4) 306,003,663
MeES B E X (5) 499 564,564
EREREESINEER (6)=(4) - (5) A 193,560,901
BATEURA (7 294,205,923
I (8) 59,518,955
REEHESINZER (9) = (7) — (8) 234,686,968
FiRE (10) 0
YHESINGZESR (11) = (3) + (6) + (9) — (10) 72,415,030
XX EERS (12) 62,437,853
BRI E S INEREE (13) 0
YR ESTES (14) = (1) +(12)-(13) 134,852,883
3. EXEFHINTHER (Tpi22F 48 1H~FF234 38318) & &
FEFEFIRA (1) 775,290,377
FEEHZE (2) 752,023,623
BERBIEESR @) =) —(2 23,266,754
FEEHMA (4) 43,866,066
FEEHNZH (5) 48,716,338
BETSNRGZES (6) = (4) — (5) A 4,850,272
BRENZES (7) = (3) + (6) 18,416,482
HERIURA (8) 309,977,663
Rl H (9) 303,439,038
BAllEZER (10) = (8) - (9) 6,538,625
EEEE ST e 1] (11) = (7) + (10) 24,955,107
ARSI =58 (12) 8,347,286
LHESINGZESR (13) = (11) + (12) 33,302,393
B (14) 0
eI (15) 0
REBERINEER (16)=(13)+(14)—(15) 33,302,393




